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QUESTION 1

What is an advantage of using WPA2-Personal instead of WEP-128 as a security solution for 802.11 networks?
A. WPA2-Personal uses 802.1X/EAP for authentication, and WEP-128 uses preshared keys.

B. WPA2-Personal is basedon IEEE 802.11 industry standards, but WEP is not.

C. WPA2-Personal uses CCMP for encryption, and WEP-128 uses TKIP for encryption.

D. WPA2-Personal usesdynamic encryption keys, and WEP-128 uses static keys.

Correct Answer: D

QUESTION 2

When a client moves to a new BSS within an ESS, whatstep is a part of the 802.11 reassociation process?
A. The client station transmits a Reassociation Request frame to its currentaccess point.

B. The current access point informs the IP gateway of the reassociation.

C. The current access point triggers theclient\\'s reassociation service.

D. The new access point transmits a Reassociation Response to the client station with a status value.

Correct Answer: D

QUESTION 3

When using an RF splitter to connect one transceiver to sector antennas loss is incurred. What is this loss called?
A. Conversion loss

B. Through loss

C. Active loss

D. Intentional loss

Correct Answer: B

QUESTION 4
In an infrastructure Basic Service Set (BSS), how does the passive scanning process occur?

A. Access pointsbroadcast Beacons on all channels of each radio within the regulatory domain. Nearby client stations
record information found in the Beacons for use in the association process.
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B. Client stations broadcast Probe Request frames on all supportedchannels inthe regulatory domain. Nearby access
points respond with Probe Response frames. Client stations record information in the Probe Response frames for use in
the association process.

C. Client stations broadcast Probe Request frames on the singlechannel forwhich they are programmed. Nearby access
points respond on that channel with Probe Response frames. Client stations record information found in the Probe
Response frames for use in the association process.

D. Access points broadcast Beacons on asingle channel for which they are programmed. Nearby client stations listen
for Beacon frames and record information found in the Beacons for use in the association process.

Correct Answer: D

QUESTION 5

Which unit of measurement is an absolute unit that is used to quantify power levels on a linear scale?
A.dBm

B. SNR

C.RSSI

D. VSWR

Correct Answer: A
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